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A plant cell that lacks a cell wall is called a(n) .
(A)chloroplast  (B) mitochondria (C) protoplast (D) spheroplast (E) epiblast

What is the name of the procedure in which proteins separated on a polyacrylamide gel are transferred with the application of a
current to a nitrocellulose filter placed against the gel and subsequently identified by their interaction with specific antibodies?
(A) Southern blot  (B) Northern blot (C) Eastern blot (D) Western blot (E) PCR

What is the name of the procedure in which single-stranded DNA molecules are separated by electrophoresis, immobilized on a
nitrocellulose filter and then hybridized with labeled, single-stranded DNA probes?
(A) Southern blot (B) Northern blot (C) Western blot (D) Southwestern blot (E) Eastern blot

What is the wavelength of light at which tyrosine and phenylalanine absorb light maximally?
(A) about 280 nm  (B) about 350 nm (C) about 450 nm (D) about 380 nm (E) about 595 nm

Nucleic acid hybridization techniques are based on the observation that
(A) DNA structure is double helix  (B) two single-stranded nucleic acid molecules of complementary base sequence can form a
double-stranded hybrid (C) DNA molecules are very hydrophobic. (D) two single-stranded nucleic acid molecules of any base
sequence can form a double-stranded hybrid (E) two double-stranded nucleic acid molecules of any base sequence can form a
double-stranded hybrid

A small, circular, double-stranded DNA molecule that is separate from the main bacterial chromosome is called a(n)

(A) ribosome (B) nucleoid (C) mitochondria (D) nucleosome (E) plasmid

What is defined as a technique for producing large quantities of a specific DNA sequence? One can make millions of copies of
recombinant DNA in a short period of time from one or a few initial copies.
(A) DNA reproduction  (B) DNA cloning (C) DNA mutation (D) DNA transcription (E) DNA denature

Genetically engineered animals whose chromosomes carry foreign genes are called
(A) gene knock-out animals  (B) gene silence animals (C) gene null animals (D) inbreed anlmals (E) transgenic animals

The name of the process in which foreign DNA is linked to the Ti plasmid from bacteria followed by the altered plasmid's uptake
in culture by undifferentiated dicotyledonous plant cells, like carrots and tobacco, is called
(A) T-cell transformation (B) cotyledonous transfer (C) T-DNA transformation (D) siRNA transductlon (E)
electroporation

An antibody molecule preparation made by a single colony or clone of antibody-producing cells would consist of large quantities
of antibodies that all had exactly the same antigen-combining site.  Such antibodies would be called antibodies.
(A) monoclonal (B) polyclonal (C) polyvalent (D) p53 (E) immune

are specific sequences of nucleotides that allow RNA polymerase to bind at specific locations before initiating
transcription site.
(A) terminator (B) operator (C) promoter (D) exon (E) intron

An siRNA directed against a particular target mMRNA is introduced into a cell. Which of the following things happens as a result
of this event?

(A) The target mRNA is degraded. (B)The cell is unable to produce additional proteins encoded by the target mMRNA and the
gene from which it was transcribed. (C) The cell continues to produce proteins from the targeted mRNA, but at higher
efficiency. (D) The cell continues to produce proteins from the targeted mMRNA, but at lower efficiency. (E) A and B
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